

Calcola le seguenti derivate con logaritmi ed esponenziali

1. $y = 3^x + 2\ln x$

$$y' = D(y) = D(3^x) + 2D(\ln x) = 3^x \ln 3 + \frac{2}{x}$$

2. $y = 2e^x - 3\ln x - 5x$

$$y' = D(y) = 2D(e^x) - 3D(\ln x) - 5D(x) = 2e^x - \frac{3}{x} - 5$$

3. $y = e^x - 2\ln x + 3$

$$y' = D(y) = D(e^x) - 2D(\ln x) + D(3) = e^x - \frac{2}{x}$$

4. $y = e^{x-3} = \frac{e^x}{e^3}$

$$y' = D(y) = \frac{1}{e^3} D(e^x) = \frac{e^x}{e^3} = e^{x-3} = y$$

5. $y = 2\cos x - \frac{1}{3}\ln x + x^2$

$$y' = D(y) = 2D(\cos x) - \frac{1}{3}D(\ln x) + D(x^2) = -2\sin x - \frac{1}{3x} + 2x$$

6. $y = 2a^x + 5$

$$y' = D(y) = 2D(a^x) + D(5) = 2a^x \ln a$$

7. $y = 2\ln x - 3y = \frac{1-3\sin x}{x^2}$

$$\begin{aligned} y' = D(y) &= \left(\frac{D(1-3\sin x)x^2 - (1-3\sin x)D(x^2)}{(x^2)^2} \right) = \frac{-3x^2 \cos x - (1-3\sin x)(2x)}{x^4} \\ &= \frac{-3x^2 \cos x - 2x + 6x \sin x}{x^4} = \frac{x(-3x \cos x - 2 + 6 \sin x)}{x^4} = \frac{-3x \cos x - 2 + 6 \sin x}{x^3} \end{aligned}$$

8. $y = \frac{x+\cos x}{\sin x}$

$$\begin{aligned} y' = D(y) &= \frac{D(x+\cos x) \cdot \sin x - (x+\cos x) \cdot D(\sin x)}{\sin^2 x} = \frac{(1-\sin x)\sin x - \cos x(x+\cos x)}{\sin^2 x} \\ &= \frac{\sin x - \sin^2 x - x \cos x - \cos^2 x}{\sin^2 x} = \frac{\sin x - x \cos x - (\sin^2 x + \cos^2 x)}{\sin^2 x} \\ &= \frac{\sin x - x \cos x - 1}{\sin^2 x} \end{aligned}$$

9. $y = x^x$

$$\ln y = \ln(x^x) \rightarrow \ln y = x \ln x$$

$$D(\ln y) = D(x \ln x)$$

$$\frac{1}{y}y' = xD(\ln x) + \ln x D(x)$$

$$\frac{1}{y}y' = \frac{x}{x} + \ln x$$

$$\frac{1}{y}y' = 1 + \ln x$$

$$y' = y(1 + \ln x) = x^x(1 + \ln x)$$

10. $y = (\operatorname{sen} x)^{\ln x}$

$$\ln y = \ln(\operatorname{sen} x^{\ln x}) \rightarrow \ln y = \ln x \ln(\operatorname{sen} x)$$

$$D(\ln y) = D[\ln x \cdot \ln(\operatorname{sen} x)]$$

$$\frac{1}{y}y' = D(\ln x) \cdot \ln(\operatorname{sen} x) + D[\ln(\operatorname{sen} x)] \cdot \ln x$$

$$\frac{1}{y}y' = \frac{\ln(\operatorname{sen} x)}{x} + \ln x \cdot \frac{\cos x}{\operatorname{sen} x}$$

$$\frac{1}{y}y' = \frac{\ln(\operatorname{sen} x)}{x} + \ln x \cdot \operatorname{cot} g x$$

$$y' = y \left[\frac{\ln(\operatorname{sen} x)}{x} + \ln x \cdot \operatorname{cot} g x \right] = (\operatorname{sen} x)^{\ln x} \left[\frac{\ln(\operatorname{sen} x)}{x} + \ln x \cdot \operatorname{cot} g x \right]$$